CDS (1) EXAM:2018

TG wH IR ge ghieror gt @rE w7 wEr WU A9 ad 9 @il

# &t . : GTHY-S-XGK . witeror gfeent g
Y e
Titerur givent A
0204653 Qe 7
awg : B Ul quifes : 100
#IIW

1. gftenm Wy ¥ & ge9 @2 #1936 gftew giere K agee smve W F B osed w8 B oow, wer @ g
T3 YB e vy iR 3 g Al ven #, @ 3@ wd oiew gfee @ ame #)

2. Fuar wE W@ R OMR Iw-uss # 3fEm e o e 7an 3k oftgwr i sgw A, B, CTIDH &R |
va fa fedt g o faenfa & v i e & & ed aefman 6 ) e o gen & g /Rt
& foufa % sw-vas fm a B smom

3. W Tiam g W @y # Ry o FwE § e HuE SEeE
form 21 wigw gfe @ i gw 7 fod)

4. w9 gltaw gfe & 120 sww (v9) Ru o ) vl e e ol siht 391 # oW 81 ves e § S0 s
(3w) fou mu B @l @ wF yegm @ g9 o, B s ew-ws w sifea wen aed ) aR sewt dwn o B oo @
afvr g 54 8, @ 29 erw ) AR A e FAtm o | e v & fo e o i weger g B

. AR F9d wft wege e ¥ fRu ) Iwm-vE W @ sifee e #) swm-maes A R oo fEw 3

. At yeEt ¥ am wE )

7. T8 v & aw vhigw gfemm & At sl % 9w I Wm-mEE T S S gE H=, 9E FE W WH-0E F 9
e sgEl & gER o fa sw-ws § 3 8

8. HM H9A ofl wegwd @ IT-95F F WA F A% a9 vie F GO W FAE IW-uAS AfigE F G 3 s 59
Tma iR g o s aEfa

9. = #W % fau v, visw gfew F o4 § gom &)

10. 7T&a I9i & o gom .

e TvE-uE ¥ IniEEn g fZe e vem s & g B oo

(i) v we ¥ for 9w d=feres 3w ) nfiean oo wes v F o Ru o o em I ¥ fo v 3 e R
MU 3H W ww-foerg v ¥ wy A wrm wmom|

(i) 2f% +rf soflean v F s 3@ % R, @ W@ e IW A Sum, Jaf e e et 4 @ o Iw ad a g,
& ot 38 um & fou avdewgen @ @ me @ zve e smomy

(iii) =2 Indiean g 1 A v 78 fFn e @ walq sefiean g sw @ B s 8, @ 38w % fou = T
ot & smom)

WE A% A T8 Ty gyiee @ied & ®E A a9 a% 7 @i

[

Note : English version of the instructions is printed on the back cover of this Booklet.
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1. R F dWHHA W U Yo 1 21 AfvEns g

% qeigat 399 F @ & S g F it F gf
X 24 81 A wivwns 70 8 g% 87

(a) T R FEGEAIGE T

a. Profofas § ¥ F-w s e,

TMRISH, ATHfs 3 FEq s §
gdfAE (Hi4) 87

(@) & aft o £

(b) Fedifirm FEAe i FEgEwIE (b) FR F aEE T A @ g 2

(c) AT A AT © A oh

). 8 R bt (d) T ot it sfuframsfiaa e 21

2. ¥ fau mu @i % sgER CH, F 2:0 W&
# 0, F 2:0 7la | w0 & co &
fre W Wi feu s w7

CH,(g) + -2102 —CO+2H,

5. e C,H,NO, # F1 87
(a) T@F TH A9 H 17 T

(b) ZEHH % AR C 3 H F = 317

(a) 20

(c) A TR # gen # sfedise
(b) 0-5 ] 1 ST FEEH
fc) 2-5 (d) TEEISE WA H g A A

3. ficfafgs § @ e @ e % w9 6. Hgw ERewEA & fau foafafaa d @ #R-w

sfufan g e e wfi? A T3 R

(a) B 3 EggEwi s (a) CpHynyn

(b) @ 3N ag ARlE I (b) CnpHy,_»

(c) feeam FEte 3 eEgEiiE 3 (c) CnHapiy

(d) = 3R R (d) CpHy,
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Two reactants in a flask at room
temperature are producing bubbles of
a gas that turn limewater milky. The
reactants could be

(a) zinc and hydrochloric acid

(b) magnesium carbonate and
hydrochloric acid

(c) methane and oxygen

(d) copper and dilute hydrochloric acid

2. How many moles of CO can be obtained

by reacting 2'0 mole of CH,; with
20 mole of O, according to the equation
given below?

cm‘,(gwéo2 —CO+2H,

(a) 20
(b) 05
fc) 25

(d) 40

3. Reaction between which of the following

two reactants will produce hydrogen
gas?

(a) Magnesium and hydrochloric acid
(b) Copper and dilute nitric acid

{c) Calcium carbonate and hydro-
chloric acid

(d) Zinc and nitric acid

GTHY-S-XGK/41A

4. Which of the following characteristics is

common to hydrogen, nitrogen, oxygen
and carbon dioxide?

fa) They are all diatomic.

(b) They are all gases at room
temperature.

fc) They are all coloured.

(d) They all have same reactivity.

5. The compound C;H;NO, has

fa) 17 atoms in a molecule of the
compound

(b) equal molecules of C and H by
mass

(c) twice the mass of oxygen atoms
compared to nitrogen atoms

(d) twice the mass of nitrogen atoms
compared to hydrogen atoms

6. Which of the following is the general

formula for saturated hydrocarbons?
(@) CnHzpy2
(b) CpHp, 2
(¢) CnHapy

(d) CnHp, 4

[ P.T.O.
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7. TH F9 fAUM E § UHEHAH o & 9y

uF didft Ta § nfawm 2| gfed dFe H ge
¥ 93 U%e & oW faeamm # wfa 3fa
v faret 87

(@) 11%
(b) 22%
(c) 33%
d) 44%

8. 7Rk wym wmea feg fm =@t B 3l P,

a2 fiefg z&t = fien @ e, @ 39
fosor =1 T 0 gm?

P, + P,

(a) 5

i Lic B
P, + P,
2P1P2

P -P,

(c)

PP,

d
(@) P + P,

9. fawd = =1 feufa wfewm

T=2t2%+3t0)+42

2 7= it 3 U 3 @ g FE9: e o
Futd

(@) xy-Te T 3 z-Fawm F @wrma
(b) yz-dd W AR x-foen F g
fc) yz-aa W 3 y-fEm & g

(d) xy-a9 T 3N x-fown & wuEE

GTHY-S-XGK/41A
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10. 2 =afe Tvg ZeamE 6 wE W ow afes w9

# Uhs 7?1 20 kg F UH FAEH WH F
weafag W @ fan (emn) s R; R
giomrEsy i Afts @ 8@ faefaa @ s
21wt ot @ @ He w9 F o smavas
o e 8 (g = 10m /s?)?

(a) 200 N
() 20 N
fc) 10N

(d) 3aa: 981

11. Fr=fafEa § @ FF-a1 s fagg =0 =1 =wmw

el # wOaft e /w87
(a) wrHE

(b) T IHAF SIS

(c) TR

(d) Fefifasm a2

12. frefafas § & #9-@1/3 9Rdl /% =

i 3 2/87
(a) Fas =i

(b) Fae gl

(c) Faa 55 3N ot

(d) =%, Tt 3R Tewe ()



7. A particle moves with uniform 10. Two persons are holding a rope of

acceleration along a straight line from negligible mass horizontally. A 20 kg
rest. The percentage increase in mass is attached to the rope at the
displacement during sixth second midpoint; as a result the rope deviates
compared to that in fifth second is from the horizontal direction. The
about tension required to completely
2 2 o 2
(@ 11% straighten the rope is (g=10m /s*)
(b) 22% (a) 200 N
(c) 33%
) 20 N
(d) 44% .
fc) 10 N
8. If two miscible liquids of same volume
but different densities P, and P, are (d) infinitely large
mixed, then the density of the mixture is
given by
A +P :
(a) ) 11. Which one of the following does not
convert electrical energy into light
2P, P. energy?
m) 2
P+ Py
fa) A candle
2P P,
R (b) A light-emitting diode
(d R P, (c) A laser
P +P

({d) A television set

9. The position vector of a particle is

2 2
r=2t“%x+3tf+42 12. Which of the following is/are the main

5% absorbing organ/organs of plants?
Then the instantaneous velocity v and !

acceleration d respectively lie (a) Root only

(a) on xyplane and along 2-direction

(b) Leaf only
(b) on yz-plane and along x-direction

(c) on yz-plane and along y-direction (c) Rootand leaf only

(d) on xy-plane and along x-direction (d) Root, leaf and bark

GTHY-S-XGK/41A 5 [ P.T.O.

Previous Pathshala




13. frafafas 4 @ Fl-w1 & ®/® @ () =
grufis w1 TE 27

(@) SmER %1 Fmior
(b) W&l = fafm
(c) WS w1 ATEA

(d) @ra iR 5= F1 =T

14, & arafas we Fafafaa § 4 fog ffde
e 27

(a) ¥4 9% F1 Fac gHTET Jha war 8 3R
UF G § fasfa g 2

(b) ¥ Y F Fae T T B § BrHfea
e 2

(c) & %a 6 It g0 & Faw aEegs
| &t ?

(d) ¥4 9% 1 Fael JeWE Bl A fawiaa
BT &

15. Fafafiaa # & g w winferaers sfen 4
urey | sifefies stet 9<1 & ®9 F Fraverar 87

(a) aATEIEESA
(b) o am

fc) @9

(d) IeEsH

GTHY-S-XGK/41A

16. 4f2 9ey ¥ SEew FI Fiwd: sEeg A
S, da ey 1 F=fafes 4 @ Fw-ar 6@
wifea gm? :

(a) Fad 5 F AWTHT
(b) i 3 faei & wfirms
o) Faa faagt &1 afirme

(d) et = sfirmE

17. F=afafaa § & |9-a1 s @S F vl gm
qrEql & Yauq § 9RE TE it

(a) 94
(b) FEH

(c) g

(@) =<

18. fagq-gradhia Tagn &1 g3 Wi g 8
(a) HaTH
(b) YA
(c) HEwaw

(d) W
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13. Which of the following is not a primary 16. If the xylem of a plant is mechanically
function of a green leaf? blocked, which of the following functions
of the plant will be affected?
(a) Manufacture of food

fa) Transport of water only
(b) Interchange of gases

t) Bviporation of water (b) Transport of water and solutes
(d) Conduction of food and water () Transport of solutes only
(d) Transport of gases

14, Which one of the following denotes a

‘true’ fruit?

(@ When only the thalamus of the 17. Which one of the following agents does
flower grows and develops into a not contribute to propagation of plants
fruit through seed dispersal?

(b)) When only the receptacle of the (a) Wind
flower develops into a fruit

gl s ouatg (b) Fungus

(c) When fruit originates only from the

calyx of a flower
(c) Animal

({d) When only the ovary of the flower

grows into a fruit (d) Water
15. In which one of the following

physiological processes, excess water 18. The visible portion of the electromagnetic

escapes in the form of droplets from a spectrum is

plant?

fa) infrared

(a) Transpiration

(b) Guttation (b) radiowave

(c) Secretion c) microwave
(d) Excretion (d) light
GTHY-S-XGK/41A 7 [ P.T.O.
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19. F=fafEa # & #:9-w1 © 2011 $ s F

FHAN T F, IH TAEE] GAE F AN
T, HE ARE AFA 27

(@) FEOTEE TRN—IafE—Rm—EE
w2y

(b) wETEE wevi— s —fafEm—Eme
=R

(c) TETm—mEY wRu—EEe 52w
—fafam

(d) dPTEE Wen—fenee  wev—atEn
—forsiem

20. F=fafaa aft sai § 2001-2011 & 29% &

A s gfe @ A I8 9| % s
(1991-2001) # gor # fome amd 2,
fam

(a) eI %
(b) FEH
(c) TN H
(d) 3" 9T F

21. T fufet 4 9fx ¥ fa # frefifas s

d |} F9-91 UF qg) T4 27

(@) waTe H@EUiy S| WL @ I G
2

(b) 3@ 23°C-25°C & 19 % 30 5 H
T gl 2

(c) 30 fooa wavim & i smavasa
2, s 50 wfex A fs ' T /)

(d) & wEm-dveran F wgEar & foro s
A # g4 F v i navEdal 2l 2

GTHY-S-XGK/41A

22. 2011 H FFOA F IgEr few T #@

sgfaa sifa 6 sden fi gmm (o R
Fo ShEE # egEfa wifa @ seEen &
wfeera & wigan) gad fus 27

(a) IT W

(b) TewmEe w2

(c) Y™

(d) ufEm s

23. frefefaa § & fre Ton @ @ @ wf e

7T §7
(a) WERIZ
(b) fEm Fe
(c) ifzm

(d) dafieATg

24. Ba(OH), #I geaid Wi 2 (fen gan 2 7 Ba

1 WA ¥R 137-3 B)
(a) 857

(b) 137'3

(c) 1543

(d) 1713
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19. Which one of the following is the correct

ascending sequence of States in terms
of their population density as per
Census 20117

(a) Arunachal Pradesh—Sikkim—
Mizoram—Himachal Pradesh

{b) Arunachal Pradesh--Mizoram—
Sikkim—Himachal Pradesh

(c) Mizoram—Arunachal Pradesh—
Himachal Pradesh—Sikkim

(d) Arunachal Pradesh—Himachal
Pradesh—Sikkim—Mizoram

20. The rate of population growth during

2001-2011 decade declined over the
previous decade (1991-2001) in all of
the following States, except

fa) Tamil Nadu
(b) Kerala
fc) Goa

(d) Andhra Pradesh

21. Which one of the following statements

with regard to growth of coral reefs is
not correct?

(a) Coral can grow abundantly in fresh-
water,

(b) 1t requires warm water between
23 °C-25 °C.

{c) It requires shallow saltwater, not
deeper than 50 metres.

(d) It requires plenty of sunlight to aid
photosynthesis.

GTHY-S-XGK/41A

As per Census 2011, the concentration

of Scheduled Caste population (going
by percentage of Scheduled Caste
population to total population of the
State) is the highest in the State of

(a) Uttar Pradesh
(b) Himachal Pradesh
fc) Punjab

(d) West Bengal

23. Which one of the following States has

more than two major ports?
(a) Maharashtra

(b) West Bengal

(c) Odisha

(d) Tamil Nadu

24. The equivalent weight of Ba(OH), is

(given, atomic weight of Ba is 137-3)

(@) 857

(b) 137-3

fc) 1543

(d) 1713

[ P.T.O.

Previous Pathshala




1@

2s. Frafafea 7 @ fra Tegem sfwemss § argsm 28. ¥& F§ I9a o9 B g = arafys wfofaw

# gad st sifaio s 7 @ @, @ 3@ g i e wfefem & A=
it e gl frad % sva ad 27
(a) NO
(a) 3@ I o9 h BiFF gl
(b) NO,
b) 3@ o\ & wiwd gh A
2 i (b) 38 Iu A Arh
(d) N,Os (c) mmévﬁﬁm;ﬂtﬁaug'«ﬂ

(d) 39 39 o8 F B g A

26. ¥4 & 39 ¥ & an # 5@ 0 Fw1 s g,
Frafafaa # @ F9-a1 & 98 T8 27

(a) ¥ IR | FIN B B

29. 4-98 ¥ 5l oft wm w g a4 A R
amr: feg w & fiffe H s 27

(b) T @ B I @ sfwE b R, (a) &3 Reama

ot & Trergz &)

(b) & IHfa

(c) 4% ez A it fagg garers )

(c) & femama 3 &3 smafa 2

(d) T8 FET ¥ FEq g oft Rensd d

-3 Bt 21

(d) &3 = &fes wzs

27. frafafes & @ fre @ sfufen § H,0/0, 30. fef ofteg § 5 A T F1 UF HE @ R W

T A F 1g W A9 T W H, TR qftww # 100 w220V & afiw & wfas

siftreham wEn W Bt 27 e ae9 gifem w9 @ guiat d 912 W1 v
&

(a) CH,+H,0—CO+3H,
(a) 20

(b) CO+H,0—-CO, +H,
(b) 15

() CH4+10,—CO+2H,

2 € 11
fd) CypHyq +60, — 12CO+ 12H, (d) 10

GTHY-S-XGK/41A

10

Previous Pathshala




11

25. Which one of the following nitrogen

oxides has the highest oxidation state of
nitrogen?

(@ NO
(b) NO,
(¢) N,O

(d) N,yOg

26. Which one of the following is not true for

the form of carbon known as diamond?
(a) 1t is harder than graphite.

(b) It contains the same percentage of
carbon as graphite.

fc) 1t is a better electric conductor
than graphite.

(d) It has different carbon to carbon
distance in all directions.

27. In which one of the following reactions,

the maximum quantity of H, gas is
produced by the decomposition of 1 g of
compound by H,0/0,?

fa) CH,+H,0—CO+3H,

() CO+H,0—CO, +H,

(c) CH,4+ %02 5 CO+2H,

{d) C12H24 + 602 — 12CO + 121’l2

GTHY-S-XGK/41A
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28. When a convex lens produces a real

image of an object, the minimum
distance between the object and image
is equal to

(a) the focal length of the convex lens

(b) twice the focal length of the convex
lens

(c) four times the focal length of the
convex lens

(d) one half of the focal length of the
convex lens

29, The direction of magnetic field at any

location on the earth’s surface is
commonly specified in terms of

(a) field declination
(b) field inclination

(c) both field declination and field
inclination

(d) horizontal component of the field

30. A circuit has a fuse having a rating

of 5 A. What is the maximum number of
100 W-220 V bulbs that can be safely
connected in parallel in the circuit?

fa) 20
(b) 15
€ 11
(d) 10

[ P.T.O.
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31. fi=fefaa 4 @ fred s #t w=@ st ggmn

S Hehar &7
(a) iae St
(b) a1 S
(c) ™ wi@

(d) =%

32. fF=fafas & & fred o A a1ft ge1 w9 3

HagA & Hvl A€ e’

(@) SHe ST

(b) 4 3R TR H2 g

(c) ATA-WE & AW AR 1Y F Gg=

(d) @9 % dq § 901 WER B F Ho aew
& i F) gag &1 T g

33. F=fafas & @ F9-91 & T TRT F @ &

FYTA] T TF Hohel 87

(a) e ® ‘At@’ &1 9 S
(b) TS H ‘View' N GET ST
(c) ¥R H ‘WA 1 9T A

(d) TSRH U9’ = g S

GTHY-S-XGK/41A
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34. WM F T ywW a7 # g, yEEEE

I 3R Wiz 1fa gm ﬁﬂf%iﬁaa H ﬂ
FI-H1 viftv1 /qfend Frwft s 2 /87

(@) YA 3 gt w1 oftws

(b) YIS F1 Uftqwa SR IGh! nfrefien
(c) YEF=aA 3 st 6 nfasfrea
(d) e JETE! H nferefrerar

35. frafafaa # @ #-a1 vs fafte yom @1 g0 2

= gy e arelt wran # 300w g @ o 3w
oHa ¥ JEema fiyg # sfeen sfafsn @
ot =0 % fom arfard g 27

(@ T & 5 &% wF W % 9@ =W #
I g3 g

(b) TEnft gy (TS fies)
(c) a4 (Hieiem)
(d) @fsfid ga

36. Fefaflad # @ #F9-w wF *97 RNA fawmy

3 9 91 916 I=w IafadT o 3 At
famra 6 =men s 87

(a) DNA #I g # RNA 3naga fen
2

(b) faum Faw warft i SHfam FifEw
e & e & Fhar 21

(c) Tammy ¥ Iqo=eft wfwand sifaemm it
£

(d) Taem] e Wy o T @ G 8
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31. Which one of the following can extinguish
fire more quickly?

(a) Cold water
(b) Boiling water
(c) Hot water

(d) Ice

32. In which of the foliowing, heat loss is
primarily not due to convection?

fa) Boiling water
(b) Land and sea breeze

fc) Circulation of air around blast
furnace

(d) Heating of glass surface of a bulb
due to current in filament

33. Which one of the following features is an
indication for modification of stem of a
plant?

fa) Presence of ‘eye’ on potato
(b) ‘Scale’ found in onion
{c) ‘Tendril’ found in pea

(d) ‘Hair’ present in carrot

GTHY-S-XGK/41A 13

34. Which of the following roles is/are played

by epididymis, vas deferens, seminal
vesicles and  prostate in male
reproductive system of human?

(a) Spermatogenesis and maturation of
sperms

(b} Maturation and motility of sperms

{c) Spermatogenesis and motility of
sperms

(d) Motility of sperms only

35. Which one of the following is the special

type of milk produced by a lactating
mother, essential for the development of
immune response of newborn baby in
human?

(a) Breast milk produced after a month
of childbirth

(b) Transitional milk
fc) Colostrum

(d) Mineralized milk

36. Which one of the following statements

explains higher mutation rate and faster
evolution found in RNA virus?

(a) RNA is relatively unstable
compared to DNA.

(b) Virus can multiply only within the
living cell of a host.

(c) Metabolic processes are absent in
virus.

(d) Virus can remain latent for a long
period.

[ P.T.O.
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37. W&l sAE@n (2011) i sfawaa & daw # 41. g1 = g1 F w9 gifaa $ifm sl

Fr=fafaa 3 & #9-w1 & o= #1 9 s gt & A9 R m gz w1 o woad I
g 7 T :

(a) TiHEETE—ro—a—Eg a1 Fe-11

(b) TrE—frsH—ERE—HE (it = =t (3ameTon)

(c) wETE—3e— st —iran deiif 7m 1. Femamgm

(d) frrm—ma—Eme—ae

38. fafafaa & 4 - s wm wfawas zam

o T Frar?
@@ A B C D
(@) 0 B 3 gl ey
b) @egs () A B C D
@ 2 3 1 %
(c) +® ) A B C D
(d) W 4 3 1 2
) A B C D
% 1 B~2

39. zfEm iz 3 THAYym we St aul @

50 fewm & i Frefefan A R ww & 42, i § wfy-swm Rl & faw § Frafafa

TR e 87 FgEl § ¥ PA-71/8 g 2/87

(a) =fequit-gfeft g 1. T a6 4 99 % FAaia a9 F 9 F4
o 21

Ll Ui 2. MaR i % sivle @y % e 3

(c) I wmga # @me £ @t wwE TE & Ful § yfa-awm § gfe i =

(@) i s v s

3. ®a & a9 # yfy-avam ¥ & @ i

40. 73 Ferft e e 7 @ ) gug e S WY Y, AT % S R

¥ 3% #1 Tgel § 41 I )

il RS ;f’jiz;::izmmww:mgﬁw
(b) FEE A (b) Faw 1 3 2

(c) mﬁmmmﬁ (c) Faw 2 3w 3

(d) 3tz ) =Rk a d 1,23R3

GTHY-S-XGK/41A
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37. Which one of the following is the correct
ascending sequence of States with
regard to percentage of urban
population (2011)?

41. Match List-1 with List-Il and select the
correct answer using the code given
below the Lists :

List-I List-1II
(@) Tamil Nadu—Mizoram—Goa— (Classification of Town) (Example)
Maharashtra A. Industrial Town 1. Vishakhapatnam
(b) Goa—Mizoram—Maharashtra— B. Transport Town 2. Bhilai
e C. Mining Town 3. Singrauli
(c) Maharashtra—Kerala—Mizoram— D. Garrison 4. Ambala
Goa Cantonment Town
(d) Mizoram—Goa—Maharashtra— Code :
Kerala
(@ A B C D
38. Which f the followi la d ? : ? i
. ich one of the following places does
not fall on leeward slope? ) g 133 (l: 4D
(a) Pune 4 A B © D
(b) Bengaluru 4 3 1 2
(c) Leh (d A B C D
<+ 1 3 2

(d) Mangaluru

42. Which of the following statements with
regard to the land-use situation in India
is/are correct?

There has been a tremendous

decline in area under forest in

39. South Arcot and Ramanathapuram
receive over 50 percent of their annual
rainfall from which one of the following? 1.

40. The

(a) South-west monsoon
(b) North-east monsoon

(c) Bay of Bengal branch of summer
monsoon

(d) Western disturbances

Eight Degree Channel scparates
which of the following?

(a) India from Sri Lanka
(b) Lakshadweep from Maldives
(c) Andaman from Nicobar Islands

(d) Indira Point from Indonesia

GTHY-S-XGK/41A
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recent years.

2. The rate of increase in land use in
recent years is the highest in case
of area under non-agricultural use.

3. Land use such as barren and
wasteland, area under pastures
and tree crops have experienced
decline in recent years.

Select the correct answer using the code
given below.

(a) 1 only

(b) 1 and 2 only
(c) 2 and 3 only
(d 1,2 and 3

[ P.T.O.



43, SaFal & dehiel 912 G § W & 39 . W3 T I F geaed Fel e 87
# g F o wna @R g sgE A @ R
(3r9ereft) it et &1 o e Pefafiaa
# A Fa-m v 76 A7 (b) T
(c) EAREADH
fa) 7ot 8 @ Fe 4 § www I W= e

GiFiEzul
(b) @t FA AP 3wl g F S\

47. FrefafEa 4 8 #9-6 & gt & i s

(FM) # sfarfa o ARt &3 97 @3 T ¥ 27
(c) =1 e ameh fradt (HYV) & st & (b) FH
YL FAT fc) “aTd
(d) % HEA! F FEA A @@ FEAl Fl 4
I (F AR fE=)
48. -1 W A1 & @iy gifem Hifsmw ik
g & 9 faw g2 = Wi W= ad aw
a4, Frfafs & 3 A w6 7 B D 3w EGLE
aEdl 27
-1 w11
(a) wE=E (@ =) (T3)
(b) TawEh A. =59 afy 1. §=1 W2y
B. sfen @R afy 2. dafrerg
BB C. FURISHEIR &Y 3. FAleH
(d) Ha D. gy 4. e
T2 :
45. @l v el afdfem 27 @A B C D
. 2 1 3 4
(a) T)-ufiries suga 61 21 wwa i & B
(b) - suFa H AH-w T AR o
€ A B C D
fc) fi-fomadt o 1 3wl s/gm Ty 2 & T A
d A B C D
(@) <h-Tomaedt o A srm-wmr wma 4 1 5 s
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43. Which one of the following was not a
part of the strategies followed by the
Government of India to increase food
grain production in India immediately
after Independence?

(a)

(b)

(c)

(d)

Intensification of cropping over
already cultivated land

Increasing cultivable area by
bringing cultivable and fallow land
under plough

Using high-yielding varieties (HYV)
seeds

Switching over from cash crops to
food crops

44. Which one of the following is a west-
flowing river?

(a)
(b)
(c)
(d)

Mahanadi

Godavan

Krishna

Narmada

45. Khasi language is included in

(a)

(b)

(c)

(d)

Munda branch of Austro-Asiatic
sub-family

Mon-Khmer branch of Austro-
Asiatic sub-family

North Assam branch of Sino-
Tibetan family

Assam-Myanmari branch of Sino-
Tibetan family

GTHY-S-XGK/41A
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46. The headquarters of Metro Railway Zone
is located in

(a)
(b)
(c)
(@)

New Delhi
Mumbai
Kolkata

Chennai

47. Which one among the following is not a
tributary of river Luni?

(@)
(b)
(c)
(@)

Khari
Sukri
Jawai

Banas

48. Match List-I with List-Il and select the
correct answer using the code given
below the Lists :

(Major Dam)

A. Cheruthoni Dam 1.

List-IT
(State)

List-1

Madhya Pradesh

B. Indira Sagar Dam 2. Tamil Nadu
C. Krishnarajasagar 3. Karnataka
Dam
D. Mettur Dam 4. Kerala
Code
fa) A B C D
2 1 3 o
(b) A B C D
2 3 1 4
(c) A B C D
4 3 1 2
d A B C D
4 1 3 2

Previous Pathshala
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49. wrg % fyafafes @9 osw-451 4 4 e s 52. fau 3% Hi g fasrim o, 2018 ¥ aEw

¥ TSET ) Gad gay FH 27 Frafofaa # & frg &= #/fer &t & e &
AvfiEn § 2017 H gen # 2018 # gur gan
(a) <€ &7
1. & & PaE HE
() & 2. Rafeams = fowm ser
PR w 3. SR ARY FE
4, faseht ww &
(d) == sfe T Een 3 R M %2 w1 v A I SR
fa) ¥ 1
50. fr=fefias % & FF-w1 & =0 = # T i
2 s 27 e
() 1,23R3
fa) <& &1
(d) 2,334
(b) TR
) R 53. ¥eed faw s 3 usal ) w-midl & faao
% fou faffes weet  (wied) =
i ﬁa-ﬁauz.aﬁqi:
1. ™ 3@
2. =€
51. TS & fm (3m) ™ v ford &% gm fu 3. Seeiferda wad
Y, AR HegEm % sgEn $sfe @ e 4.  &IBA
T Srfeera 87
ITYTH WG] F A HEW F WUR W AT
(a) sy T Wﬁﬂﬂ@aiﬁﬁml
(@) 1-2-3-4
(b) & Y R ==
(b)) 1-2-4-3
(c) el fom (c) 1-3-2-4
(d) e (d) 4-3-2-1
GTHY-S-XGK/41A 18
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49. Which one among the following Union 52. According to the World Bank’s Doing
Territories of India shares the shortest Business Report, 2018, India’s ranking
length of National Highways? has improved in 2018 as compared

to 2017 in which of the following areas?
(a) Chandigarh 1. Paying taxes

Resolving insolvency

2
(b) Delhi 3. Starting a business
4

© D - Getting electricity
c aman and Diu

Select the correct answer using the code
{d) Dadra and Nagar Haveli given below.

(a) 1 only

(b) 1 and 2 only
50. Which one among the following passes

links Lhasa with Ladakh? (c) 1,2 and 3
(a) Lanak La (d 2, 3 and 4
(b) Burzil

53. The Fourteenth Finance Commission
assigned different weights to the
following parameters for distribution of
tax proceeds to the States :

(c) Babusar

({d) Khyber

1. Income distance
2. Population
3. Demographic changes
51. According to the latest Reserve Bank of 4. Area
India study on State finances, capital
spending is maximum on Arrange the aforesaid parameters in
descending order in terms of their
weights.
(a) rural development
(a) 1-2-3-4
(b) water supply and sanitation
(b) 1-2-4-3
(c) urban development (c) 1-3-2-4
(d) education (d) 4-3-2-1
GTHY-S-XGK/41A 19 [ P.T.O.
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54. FNeT N WHeF W TEFeTN A fewmEa

farga it «ft?

(a) Tieew dreha

(b) To TEFo fhferey
fc) o WHo FI g

(d) 3o o feredt

55. #ew v« He Bef, 39 v & Aefefaa §

| fru wE e & iy 27
(a) &E°W

(b) ETSEE!

(c) witae

(d) rettam

56. 7afdg siras Hu1 fora viar # foreft it oft?

(a) w&pa
(b) L
(c) afte
(d) wifa

57. dfue @ 09} % sEn frefifiae 3 @ 9 a2

ftreEmdt @ 47
(@) TTEMT
(b) IR
fc) fEmTg
(@) R

GTHY-S-XGK/41A

58. AF&fd ¥ argam Afgend Foafafas §  fra

fifa 3 wuf siffa # gaelt 87
(a) @i’

(b) Fam

fc) we-fug

(d) IuuieEn

59. W Faf<yy iR g2 & Ry w=w # g aof

& faga # war frafafaa 4 & fra &g gu &
e &7

(a) Af3m FFEm
(b) T Fwm

(c) STIR Fwr

. (d) FaEga

60. 9H varedt et # faafafas § @ #w-dt

g m # fu 91 9@ wwdg fafa @
4@ a¥g T A7

(@) el o (T)
(b) “EHH (ATETEE)
(c) R (FeTewarer)

(d) STFA
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54. The natural rate of unemployment

hypothesis was advocated by
(a) Milton Friedman

(b) A. W. Phillips

fc) J. M. Keynes

{d) R. G. Lipsey

§5. The Harappan site at Kot Diji is close to

which one of the following major sites of
that civilization?

(a) Harappa
(b) Mohenjo-daro
(c) Lothal

(d) Kalibangan

56. The story Gandatindu Jataka was written

in which language?
(a) Sanskrit

(b) Telugu

(c) Tamil

(d) Pali

57. According to the Tamil Sangam texts,

who among the following were the large
landowners?

(a) Gahapatis
(b) Uzhavars
{c) Adimais

(d) Vellalars

GTHY-S-XGK/41A

According to the Manusmrifi, women can
acquire wealth through which of the
following means?

fa) Purchase
(b) Investment
{c) Token of affection

(d) Inheritance

59. The dialogue on Varna between king

Avantiputta and Kachchana, a disciple
of Buddha, appears in which one of the
following Buddhist texts?

(a) Majjhima Nikaya
(b) Samyutta Nikaya
(c) Anguttara Nikaya

(d) Ambattha Sutta

60. In the first century AD, which among the

following was not a major item of Indian
exports to Rome?

(a) Pepper
(b) Spikenard
fc) Tortoiseshell

(d) Nutmeg

[ P.T.O.
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61. Yid wER HfufEm,

1858 ¥ way #
frfefiaa wadt § @ #9-a1/3 a8 /87

1. fafewm o= 3 &= e 9+ | yra w
HOydl Teu 6 off|

2. fafew dwg & vim & wwa & foe gwen
w1 fafen 190 & yorg oe & oy A
srfufaafia fem an

3. 7z sAufEm 23 % goee o e e
dAEtg wewiirar A Fige s
T & fagia @ arftnfaa o)

R Re 52 1 wam W= ad 3w g

(a) Fad 1 3R 2

(b) FAdA 2

fc) 1,23Mm3

(d) ¥a« 1 33

62. Wi whwg wfufam (3w sefEe =),

1861 & daw # fy=fafas =e&t # @

-41/8 T /&7

1. T fufem 3 med-swe A o gfeg
d -wall wedl w wfEifea W=
dr T #1 U g2 o fa)

2. wee # Aamfafde fEn s a1 awr
FE ® A9 &Y ¥ A Furh @ F
foam o= difim =t B mn a1 < TeR-
A ZR T q9 @ S 9

3. TER-SE & oyt faur afe w@
i

fia fw Ty gz 1 @ a3 g

(a) #a& 1 3R 2

(b) FE 233

) 1,23R3

(@) Faa 1

GTHY-S-XGK/41A

22

63. TR T T s Y sk & we

% "oy # Frefefiea st § @ FR-31/8 5
?/87

1. W & Fu9 3 399 aft Iwadt s |
Hfaum ¥ wufmin F s fean)

2. IT H9¢ U TEE-W @ 98 w91, afew
TF HIU, UF 98 Hahed 3N U wiaw
Cill

3. ¥4 #AR dfaum ®1 sfafifea 29l wem
)

#i= Ry e 2 1 wam W ad 3w g
fa) %aw 1 3R 2

(b) F=a 1

o 1,23R3

(d) Fa« 2 3R 3

64. AR 2018 # dyw 2+2 fiusfim dar s

= gan?

(@ wra & fRw wf 3 wn wh =1 =%
I gawst & Ty

(b) vwa & fam wht 7 wn ot F=1 3T =6
wHEE & WY

) “ra & & W I W W W E
iRl GeE! % ary

(d) wwa & fa@w o a wn wh &1 7%
IR ST % 1Y
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61. Which of the following statements 63. Which of the following statements

relating to the Government of India

Act, 1858 is/are correct?

1. The British Crown assumed
sovereignty over India from the
East India Company.

2. The British Parliament enacted the
first statute for the governance of
India under the direct rule of the
British.

relating to the historic Objectives
Resolution, which was adopted by the
Constituent Assembly, is/are correct?

1. The Objectives Resolution inspired
the shaping of the Constitution
through all its subsequent stages.

2. It was not just a resolution, but a
declaration, a firm resolve and a

3. This Act was dominated by the pledge.
principle ?f absolute imperial 3. It provided the underlying
control ~without any popular philosophy of our Constitution.

participation in the administration
of the country.

Select the correct answer using the code
given below.

(@) 1 and 2 only
(b) 2 only

(g 1,2 and 3
(d) 1 and 3 only

62. Which of the following statements relating

to the Indian Councils Act, 1861 is/are

correct?

1. The Act introduced a grain of
popular element by including
non-official members in the
Governor-General’s Executive
Council.

2. The members were nominated and
their functions were confined
exclusively to consideration of
legislative proposals placed before
it by the Governor-General.

3. The Governor-General did not have
effective legislative power.

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 2 and 3 only
fc) 1,2 and 3
{d) 1 only

GTHY-S-XGK/41A

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 1 only
fc) 1,2 and 3

(d) 2 and 3 only

64. The 2+2 Bilateral Dialogue was held in

September 2018 between

fa) External Affairs and Defence
Ministers of India with their US
counterparts

(b) Finance and Defence Ministers
of India with their Russian

counterparts

() Home and Defence Ministers of
India and their counterparts in
Pakistan

(d) External Affairs and Defence

Ministers of India with their
counterparts in Pakistan

[ P.T.O.
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65. 3a 2018 A nfaa w&n Ao wfafa =1 wwy 68. WE 2017 # &N WA BN W & ¥ g

(FgTa) #1987 wrflert 1 Aifa sgaifes i € o I
wrflert wrf & e @ siftnren % fo ware

(@) wuEEA g sffvifa wr &4 & frefRes § |
-9 &7 7 &7

(b) TTER T HeMEH (a) W (snfEedt )

(c) & WA (b) TEH AGAN 3N Feftapreen

(d) oA IgE (c) wAget

(d) &R Y§F A6 9 G IoF oF

66. ‘dwq Fr=fafea § & e am 27
69. qfavfi yee ‘CAATSA’ Freferfiaa # & fFm 2w

(a) T qeH &% T sfufrafia fum = ffde w87
(b) N TAget () s Femen
(b) TIH TUSY 3wl
(c) 9 &+ AgAH o
fc) &4
(d) JIIE TEH
(d) wTE

67. Fdum Hifq % srgEn wa:agHitEa aof % s 70. WG HER N A fufmm & gade s

g dftm o a1 27 FarER 2017 # feq ‘FH a@ F1 qdeE o
q P 7

(@) 26 wftwE
(a) e s

(b) 74 fowE
(b) T T

(c) 51 gfam (c) = A

(d) 49 g (d) =T g

GTHY-S-XGK/41A 24
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65. Who is the Chairman of the Defence 68. The policy on strategic partnerships in
Planming Committee set up in defence was approved by the Ministry of

April 2018? Defence in May 2017. Which of the
following is not among the four

(a) The Prime Minister segments identified by the Ministry for

acquisition through the strategic

artnership route?
(b) The National Security Advisor P P

(a) Artillery guns
fc) The Defence Minister
(b) Fighter aircraft and helicopters

(d) The Chief of the Army Staff (c) Sub T

fd) Armoured fighting vehicles and
main battle tanks
66. ‘Tejas’ is the name of which one of the
following?

69. The acronym ‘CAATSA'’ refers to a piece of
fa) Main battle tank legislation enacted by which one of the
following countries?

(b) Nuclear submarine (a) United Kingdom

() Light combat aircraft (b) Uniled States of America
(d} Aircraft carrier fc) Russia
{d) India

67. As per the extant policy, Foreign Direct A
Investment is permitted in the defence 70. Who among the following is the Convener

sector under the automatic route up to of the “Task Force’ set up in November

which one of the following limits? 201'7 by the Government of India to
review the Income-tax Act and draft a

new direct tax law?
(a) 26 percent

fa) Girish Ahuja
(b) 74 percent
(b) Mukesh Patel

(c) 51 percent () Arbind Modi

(d) 49 percent (d) Mansi Kedia

GTHY-S-XGK/41A 25 [ P.T.O.
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71. geg 2018 # dAPwiew % Frolg ¥ dEw #
ffafas & & fre & woa & g =
gadq geg (MSP) # 3fg i wfwa sfuwan
27

(a) &R (G)
(b) @
(c) =

(d) WHEEE

A :

frafafad T (4) swamt & @ 99 &, F9a 1 3R
FUA 11, 1 31 Al &1 grauEigEs wien Fifm i
Ara R g g2 1 e Ed 3w gl

L T3

(@) EET FUA F-HT T & IR FUA 11,
Fo 1 F1 gé T R

(b) I FA Fem-sem @ &, g
H9A 11, F99 1 F1 Gél T 78 2

(c) w97 16d 8, frg F9= 11 oa 2
(d) F9 17 &, fhg wu= 1 wd 2

72, F941:

g # 2017-2018 F A Tl W FA
TSN g2 S@ar dtet 99 3 wfdwa &
FRBM ®MH1 & &R ¥ T =41 W&

GTHY-S-XGK/41A

73.

7‘.

75.

Y9 11 :

fim avff ¥ sl w1 Rl ww@
2016-2017 # g& ¥ 2017-2018 H
Hite 39 wR W g ™|

FYA I :

2007-2008 ¥ 2015-2016 % WA WA
e # a=a w & fa ez g€ 21

_94 I1 ¢

e iR weetE a=w # froee g 2

FY41

ura B argaue 8 fsht e, aeafs RE
| @ga Afvs 9@ () 31

H9q 11 :

m # smEum nfefafiet § fawfaes
e ®9 @ B e s &)

HY4 ] :

e # FfY anft oft F@ A F= FE A
fomm 21

HYq 11 :

v # F femam i afewa § 71 &
s R
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71. With regard to the cabinet decision
in July 2018, the percentage increase
in Minimum Support Price (MSP) is
maximum in which one of the following
crops?

(a) Jowar (Hybrid)
(b) Bajra
(c) Maize

(d) Soya bean

Directions :

The following four (4) items consist of two
statements, Statement 1 and Statement II.
Examine these two statements carefully and
select the correct answer using the code given
below.

Code :

fa) Both the statements are
individually true and Statement Il
is the correct explanation of
Statement [

Both the statements are
individually true but Statement II
is not the correct explanation of
Statement I

(b)

fc) Statement ] is true but Statement Il
is false

Statement I is false but Statement 11
is true

(d)

72. Statement | :

The overall fiscal deficit of the States in
India during 2017-2018 stayed above
the FRBM threshold level of 3 percent
for the third successive year.

GTHY-S-XGK/41A
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Statement 1I :

Special Category States had run up a
higher level of fiscal deficit in
2017-2018 compared to 2016-2017.

73. Statement ] :
There has been a sharp decline in
savings rate in Indian economy
between 2007-2008 to 2015-2016.

Statement II :

There has been a fall in household and
public savings.

74. Statement ] :

Private investments in research have
severely lagged public investments in
India.

Statement 11 :

Universities play a relatively small role
in the research activities of the
country.

75. Statement | :

Agriculture in India still accounts for a
substantial share in total employment.

Statement 11 :

There has been no decline in volatility
of agricultural growth in India.

[ P.T.O.
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76. T ¥ w1 gada T B avE g9 T ™

afit vrm & & =9 Tt
(a) A T

(b) FTH

() ZaTHE

(d) A

77. fasmam § s A # a1 Fafafes 3 &

foraart e wam e 37

(a) it 1 giE

(b) afte s (ffae) Fad
(c) & WA

(d) | FHTS

78. FFW F ANEIHFE H o0 UF "AEEl @4

ARiE-T-Fad qEt we & 3 faget # |
forass g foaw ot o7

(@) % FHaErdl
(b) =R F9E
(c) Tege et qEEA

(d) FemER e

GTHY-S-XGK/41A

79. gHta @M, UF Al =fe, e gre wme

1 37 g 917
(a) 3FFHa

(b) MR

(c) HEEAT

(d) e A’H

80. 184 ya=d # @Y * AR YgeN q9E THAR

w417

(a) ETE TR

(b). qaTE W3EA I @
(c) aTa Yen-3g-2er

(d) TEE G3Ed @H

81. widd aEf dFfEn & smEn 174 v ¥

A arur # e v el @ s
47

(a) %z 3 u® (W)
(b) et AR BE (FH)
(c) T8 IR ge=R

(d) ¥z 3 ger
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76. Who among the following European 79. The aristocrat Mugarrab Khan was a

77. The class

travellers never returned to Europe and great favourite of which Mughal
settled down in India? Emperor?

(a) Duarte Barbosa (a) Akbar

(b) Manucci (b) Jahangir

(c) Tavernier

(d) Bernier

of Amar Nayakas in
Vijayanagara is a reference to which
of the following?

(a) Village Chieftains
(b) Senior Civil Servants
(c) Tributary Chiefs

(d) Military Commanders

78. The important source for Akbar’s reign,

Tarikh-i-Akbari was written by which
one of the following Persian language
scholars?

fa) Arif Qandahari
(b) Bayazid Bayat
(c) Abdul Qadir Badauni

(d) Nizamuddin Ahmad

GTHY-S-XGK/41A
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81. According to the

(c¢) Farrukhsiyar

(d) Shah Alam

80. Who was the first Nawab Wazir of Awadh

in the 18th century?

fa) Nawab Safdarjung

(b) Nawab Saadat Ali Khan
fc) Nawab Shuja-ud-Daula

(d) Nawab Saadat Khan

French traveller
Tavernier, the majority of houses in
Varanasi during the 17th century were
made of

(a) brick and mud
(b) stone and thatch
fc) wood and stone

(d) brick and stone

[ P.T.O.
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82. USAYT ¥ Fa=Al & fauy 1 F=fafas s 8§ 85. WRd # dfawm # Fafafas & @ f9-d4

] F-91/8 T 2/87 g wrEE fen oftwd B e @
1. T F aue yg@ % w9 # os I9EY At B7
% wdeq gae § e a1 == w= fawg 9
4| (a) el sgast
2. W@ UHUE 9 wfafvg @ @ds @
= #i fofs @@ & W el T vl (b) <ot 3rgEeh
e & I U5 F g FETes 5
R W 9 F@ B, T€ 9% I 62 (c) wi=el srgge
Z gaE & i 2 )
(d) B3 FFa
9 fEu o F2 F @ A wd I g
(@) &a@ 1
(b) Fa 2 86. Fr=fefaa # & fam v T=a # ad& 2018 @
‘DEFEXPO 2018’ €94 g3117
c) 1 32 3Et
[d @1, A8 2 (a) T
83. Wi ¥ uhwm W fefafas # @ @W-w (bl e
:‘g@zmm%m%mﬁm o
(a) FTTB2 371A (d) 9 wew
(b) =2 371B
HT=3e 371C
& ; 87. 2018 ¥ &=z v ¥ faw W=t g 9ifa 2w
(d) FT=H 371D Areifirs wifen Frafafaa 4 & B osat §
¥ R E?
84. WNd ¥ dfavm & Frafafaa 7 & g sg=ez :
& 37y - T T AT a7 (@) 3nfem v ufim ama
(a) TR 238 (b) T 3 EfETn
(b) TR 370
(c) ¥R 371 fe) v 3T TR
(d) F=R 371G (d) I 9ew 3 afeTg
GTHY-S-XGK/41A 30
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82. Which of the following statements 85. Which one of the following Schedules
relating to the duties of the Governor to the Constitution of India provides
is/are correct? for setting up of Autonomous District
1. The duties of the Governor as a Councils?

constitutional Head of the State
do not become the subject matter fa) Third Schedule
of questions or debate in the
Parliament.
2. Where the Governor takes a (b) Fourth Schedule

decision independently of his

Council of Ministers or where he fc) Fifth Schedule
acts as the Chief Executive of the
State under President’s rule, his {d) Sixth Schedule

actions are subject to scrutiny by
the Parliament.

Select the correct answer using the code

given below. 86. In which one of the following States was

(@ 1 only ‘DEFEXPO 2018’ held in April 2018?

(b) 2 only

(c) Both 1 and 2 I

(d) Neither 1 nor 2 (b) Karnataka

83. Which one of the following Articles of
the Constitution of India deals with the

special provision with respect to the
State of Assam? (d) Andhra Pradesh

fc) Tamil Nadu

(a) Article 371A
(b) Article 371B

(c) Article 371C 87. The two defence industrial corridors
> announced by the Finance Minister in
4 Asdicle 571D his 2018 Budget speech are coming up

in which of the followi
84. Provisions of which one of the following SR T I0E g S

Articles of the Constitution of India

apply to the State of Jammu and (@) Odisha and West Bengal
Kashmir?
(a) Article 238 (b) Punjab and Haryana

(b) Article 370
(c) Article 371
(d) Article 371G (d) Uttar Pradesh and Tamil Nadu

fc) Gujarat and Maharashtra
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88. WA & Ugel @a¥fl AgA aAws (IAC) fHw
™ | S S 87

fa) Tawia
(b) fa
c) aAwa

(d) a8

89. ‘ugy’ ufEEM ¥ arla wifew 155-mm
T Afder adl F IFaw # Pafafaa 4 |
frg s Fmtar #t s @ 87

(a) ¥TE FeEEe fafiee
(b) HTEr el 1
(c) wa sty fafee

(@) o= arg

90. Fefefiga & & +=-w1 s JAH| 2020
et A F1 i guE 87

(a) HETM (e )
(b) fafafa £ greE
(c) T, Y wIe R dgan

(d) TomdmEn
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91. @ TEA # W s wefen Tm
gt e € 7 e g g fean Tt

(@) WTEA &E
(b) M = T
(c) 3JIATH FFIcid

(d) wada FrReme

92. z Fiaw e w2 fafergm w8 4 g nat-
e g wnfua faRan et

(@) anA 2w
(b) IS FiHaTierd
(c) T=d Faweh

(d) faferm dfe=

93. aE wdwEg Ifrermaw FA 8, Sed 1041 &8
F v & fa-zariee 6 afyuron F el
# gwra-tfiee a0 uHA Aiws| (24) H
Iy form 27
(a) el T
(b) wfEE FAR AT
(c) GegETH WEEE

(d) THEHA T
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88. What is India’s first Indigenous Aircraft 91. ‘Mission SBatyanishtha’, a programme
Carrier (IAC) called? on ethics in public governance, was
launched recently by the
fa) Vikrant
(a) Indian Railways
(b) Virat
(b) Central Bureau of Investigation
{c) Vaibhav
(c) Supreme Court
C » (d) Enforcement Directorate
89. Which one of the following manufacturers 92. The College of Fort William was
is engaged in upgradation of the established by which one of the

Swedish 155-mm Bofors Howitzer under

following Governor-Generals?
the project Dhanush’?

(a) Warren Hastings
fa) Bharat Electronics Limited

(b) Lord Cornwallis
(b) Ordnance Factory Board

fe) Richard Wellesley
(c) Bharat Dynamics Limited

(d) William Bentinck
(d) Mishra Dhatu Nigam

93. The Economic historian, who has
used the data collected by Buchanan-
Hamilton to support the thesis of
deindustrialization in the 19th century
India, is

90. Which one of the following is the official
mascot of Tokyo 2020 Olympic Games?

(a) Soohorang

(a) Tirthankar Roy
(b) Vinicius de Moraes

(b) Amiya Kumar Bagchi
(c) The Hare, the Polar Bear and the

Leopard (c) Sabyasachi Bhattacharya
(d) Miraitowa (d) Irfan Habib
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04. 1041 wdt # wia # =@ I R wva s o8. wuwwl foen uftg ¥ faifua we=l $i

q1? verafy & an # frafafes § /@ #9-@1 &
(@) i & ud 27

(b) T TH (@) Tratea i arfra & oie ad

(c) T HIET

(b)) Fafe & =@ qfeg i wuw ¥@F N
(d) TEe 3Ea fruifta fafy @ ofa

95. T <z W I PR § & few 20 # (c) wa TEw A ardra & vE A

‘st fie A’ g R et (d) Tratam i ot @ o8 ad

(a) STUH
(b) TrE

S 99, frefuftas # ¥ # EEwwE fren ol &
() ofeg, A ffEl B s A S
(d) FermE FETT?

ECEC RO ]
96. fra TsHife® 3@ 3 6 IH, 1946 F HaAe i -

Rl e R R
T an? (c) TS H&R % o@l-gie
R
(@ = (d) w13+ wréfa SEER
(b)
(c) Hfem
d i 100. @EEwE fen o dsfm oftedt & rfufast
@) Apw i w3 el swE Fei B
el ww 87
97. wfae ynd fram aw, Fed ¥ew Femae
(1944) # &€, =1 Faifea s 9 @ (@) TG
[EAHE gradt
™ (b) g
(b) T wa
(c) I TE qeada (c) T g
(d) =¥ (d) SuFE
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94. Tea growing in India in the 19th century 98. Which one of the following regarding
was made possible by the tenure of the elected members of
the Autonomous District Council is

(a) Joseph Banks cortect

(b) James Cook fa) Five years from the date of election

fc) Robert Fortune
(b) Five years from the date appointed
{d) Robert Owen for the first meeting of the Council

after the election

95. Subhas Chandra Bose started the ‘Azad fc) Six years from the date of
Hind Radio’ in which of the following administration of Oath
countries?
(d) Six years from the date of election
fa) Japan
g ausei 99. Who among the following shall cause the
(c) Germany accounts of the Autonomous District
and Regional Council Funds to be
(d) Malaysia audited?
(a) The Comptroller and Auditor
96. Which political party formally accepted General of India
the Cabinet Mission Plan on
6th June, 1946, which had rejected the (b) The Chartered Accountant
demand for a sovereign Pakistan? empanelled by the Government of

India
fa) The Hindu Mahasabha

(b) The C (c) The State Government Auditors
e Congress

fc) The Muslim League (d) Any Chartered Accountant

(d) The Unionist Party
100. Who has the power of annulment or

) ) suspension of Acts and Resolutions of
97. The elected President of the All India the Autonomous District and Regional

Kisan Sabha, which met in Vijayawada Councils?
(1944), was

(a) Sahajananda Saraswati (a) The Governor

{b) Vinoba Bhave : (b) The President

(c) Achyut Rao Patwardhan () The Chief Minister of the State

(d) Narendra Dev (d) The Prime Minister
GTHY-S-XGK/41A 35 | P.T.O.
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101. €9 # @@eil % §ay § wra & s ik

werera Tl i Samden sfaaeEl w
wega T s

(a) Tgafd
(b) TIH TV AR
(c) waFwHI
(d) Sqgafa

102. fr=fafas § | f9-w tsagw f wiwa |/

wafea T 27
(@) TS 3ft &= wfwal
(b) weitE 6 Fgfe & oifw

) Tsa faum w1 A AEgd () w1,
wfia & o ¥ &

(d) @S F fu s, whiew, fam s
qiER Ya= %1 # wfh

103, TWz # uiEa 3 F4 duew fam & st 4

fop=ferfaa # | F9-a1 & @d T *7
(@) TST & qHa] G F=] HEAT

(b) wggfam sife o smgfEa  Swenfa
Tt & o & gfe w@ ¥ wEm & g

9t =4

c) @9 g@R % e F e fardt suwm
7 fégs =@EuEl § foed & 98 w ==l
HEAT

(d) refis ufnt i w5 @ gan 3@ gadt
el W == w
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104, fr=fafigs # @ =01 wa & fafas smm &

FE1 3 uftedl & st T 87

(@) Frates Tmaeft i &0 @ adiao,
Frdem afr Frmor won

(b) TEE ¥ 3N v TSF I Fuw g &
frat=m #t o

(c) Teafa wd Iqwafa & w& & forg Fafew
FOAT

(@) Tt s i, @ 9 ™ FE F
fisgres # wEmar @ F fow &l

sgent 1 Fgfn Fn

105. I=W AAeE & At % 9§ FEfe %

fore Frafeafeas § @ S9-a1 TvEve EwEE
¥t 27

(@) Tl 3= =maem & =mEnfm % &9 4
F9-R-%9 r9 T4

) R 7= = F afaw & w9 A
FH-B-F9 79 94

(c) Tgufe #t va # U wreanfan =g

(d Ta-qfefime #fmz & &9 #
F9-9-%9 99 99
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101. The audit reports of the Comptroller and

Auditor General of India relating to the
accounts of the Union shall be
submitted to

(a) the President
(b) the Speaker of the Lok Sabha
fc) the Prime Minister

(d) the Vice President

102. Which of the following is not related

to the powers of the Governor?
fa) Diplomatic and military powers
(b) Power to appoint Advocate General

(c) Summoning, proroguing and
dissolving State Legislature

(d) Power to grant pardons, reprieves,
respites or remission of
punishments

103. Which one of the following regarding the

procedure and conduct of business in
the Parliament is not correct?

(a) To discuss State matters

(b) To discuss issues of the use of
police force in suppressing the
Scheduled Caste and Scheduled
Tribe communities

fc) To discuss issues in dealing
with violent disturbances in an
Undertaking under the control of
the Union Government

(d) To discuss issues for putting down
the demands of the industrial
labour

GTHY-S-XGK/41A
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104. Which of the following is not under the

powers and functions of the Election
Commission of India?

direction and
preparation of

(a) Superintendence,
control of the
electoral rolls

(b) Conduct of elections to the
Parliament and to the Legislature of
each State

fc) Conduct of election to the office of
the President and the
Vice President

(d) Appointment of the
Commissioners to assist the
Election Commission in the
performance of the functions
conferred on the Commission

Regional

105. Which one of the following criteria is not

required to be qualified for appointment
as Judge of the Supreme Court?

(a) At least five years as a Judge of a
High Court

(b) At least ten years as an Advocate of
a High Court

(c) In the opinion of the President, a
distinguished Jurist

(d) At least twenty years as a Sub-
Judicial Magistrate

[ P.T.O.

Previous Pathshala




106. frfefiaa # & F-1 b geadd & Fdsal 4

e 27

(a) U5 & WWEl & YORA ¥ Fafug
Afyufteg & ot Fofat sl faumm &
TEArE B TS & TeEWE W e
AT

(b) T F UIEA F Hay H USAGS g
ad 7w g 3 furR F weEl #@)
IUeTe FAT

(c) Wit wiodes # 59 waed & Gaftd
Hffeg  oft Pofdl # weefe #&t
wgiea FE

(d) 3R T=TE T =, @ R R A
=, g w et W=t g FPofa foa mn
¢ forg afifag g fasm =& e mn
2, wfafeeg % fremodd wega w0

107. Frefafas 4 @ B o=at & Rursizs @ 9

i w27

(a) TSAITA

(b) faam ww

(c) Taum gftag

(d) FEmEh

GTHY-S-XGK/41A

108. TS # FLARy IH F4 H ufe & 9w H

frfefas # & = wd ¥@ 27

(a) Te faawdm ufs 78 2)

(b) TEEaTE R ot GER ey F A |
aehal 2|

(c) Zwaem H wfe =1 wm oft B =
A &, 9@ faurdes a3 § 78 A1

(d) weERm s (sifve) w9 & fom At
# gEEd 3N gae I AEEEsal T8
Bt 21

109, WHARER] @I @EWfie =@mun % HE9 H

Freferfae wedt & @ F9-m 7 7@ 27

(@) T TE FEEW] J§ WHATEHEE & M
# 10 femrm, 1948 = sifien fEm
7|

(b) wWa ¥ uhwm # wivefa e
sftFrl F FHfagag IgEY gEEgER @)
g S & 39EY & g9 ¢

(c) gofa & SITHER, AEatER &
wraiifs Sron =1 feem 78 2

(d) T, HEETuER] 1 JEiEE e
UF A ¢
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106. Which one of the following is not among
the duties of the Chief Minister?

(a)

(b)

fc)

(d)

To communicate to the Governor
of the State all decisions of the
Council of Ministers relating to the
administration of the affairs of the
State and proposals for legislation

To furnish information relating to
the administration of the State and
proposals for legislation as the
Governor may call for

To communicate to the President
all decisions of the Council
of Ministers relating to the
administration of the State in the
monthly report

To submit for the consideration of
the Council of Ministers any matter
on which a decision has been taken
by a Minister but has not been
considered by the Council, if the
Governor so requires

107. Which one of the following is not
considered a part of the Legislature of
States?

(a)

(b)

(c)

The Governor

The Legislative Assembly

The Legislative Council

(d) The Chief Minister

GTHY-S-XGK/41A
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108. Which one of the following regarding
the ordinance-making power of the
Governor is not correct?

(@)

(L)

fc)

(d)

It is not a discretionary power.

The Governor may withdraw the
ordinance anytime.

The ordinance power can be
exercised when the Legislature is
not in session.

The aid and advice of ministers is
not required for declaring the
ordinance.

109. Which one of the following statements
regarding the Universal Declaration of
Human Rights is not correct?

(a)

(b)

(c)

(d)

Previous Pathshala

The UN General Assembly adopted
the Human Rights Charter on
10th December, 1948,

Some of the provisions of the
Fundamental Rights enshrined in
the Constitution of India are similar
to the provisions of the Universal
Declaration of Human Rights.

The Right to Property is not a part
of the Universal Declaration of
Human Rights.

India is a signatory to the Universal
Declaration of Human Rights.
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110. HFETUHR afteg F ar i f=fafaa = 4 8

H1-91 TE TE _7

(a) ¥8 g Y sqael & iR, 9w g F
aft gt | a1 @ Aa-usHE EE
2

() & ¢ faw # wft wrafusdl F 395
v guan & forg fordam 21

(c) T HAYE T g AHETUHR AN H
o @ fomn 21

(d) T8 §gH UL % 47 T T @ &1 2
ot dgen wg e g Faffaa e
ST 21

111. 3¢ tyee, e Jwe @ 4 9w

figendt &7

(a) aroiten S (¥ 91)
(b) e e (Safem 4)
(0 hen s sz )
(d) = b (fewmy 4t)

112. 2017 % 3@ed fag 3% st F JFAR W

fu f o waE @t srforEen [@Ee W
I (GDP) % 3man ) R Foafefea & @
FH-|1 9 9a & 3 TE 27

(@) SHH
(b) o Fe
(c) HTE

(d) T

GTHY-S-XGK/41A

113, ‘e ¥y & fawm § fefafea § @ #9-a

ad ¥7

(a) & GST § Hal¥a FE«HH 4% TEH
# Iegpear UM w4 F fog v fEwfafa
2

(b) WrERE U9 & WA & T7 H F A
YT I GIH T 2

(c) T& TH FER FEAlMG 8, N GEA A
FO UH T AFEER F AlHe THH B
o sfvrfem A1 Tt 21

(d) T8 WS wEEm ad JEE AR
frafa donsit & wwww F gw (9EW)
Eoicig

114. ‘@A (SWAYAM) =1 27

(@ & Y@ eah R, Fmw ww Afew
(Faweata) e & fam # awfei
ain afiEl H Py fer (32 @)
&R F R

(b) PN WA G SAGH G HAATE TEuHA]
(MOOCs) # T& Jeci

(c) Toen # wrefedl i wrfied 7gm ¥ fou
U FIhIEH JT

(d) U e A, oA e s
F fou Ram a=t (Roasssmt) &
eI F 8
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110. Which one of the following statements
regarding the Human Rights Council is
not correct?

(a)

(b)

fc)

(d)

111. Ace

It is an inter-governmental body
within the United Nations system
made up of all members of the UN.

It is responsible for the promotion
and protection of all human rights
around the globe.

It replaced the former United
Nations Commission on Human
Rights.

It is made up of 47 UN Member
States which are elected by the UN
General Assembly.

athlete Neeraj Chopra is an

accomplished player in

(@)
(b)
fc)
(d)

Hammer throw
Javelin throw
Shot put throw

Discus throw

112. According to the updated World Bank
data for 2017, India is the sixth biggest
economy of the world (in terms of GDP).
Which one of the following is not ahead
of India?

(a)
(b)
(c)
(d)

Japan
UK
France

Germany

GTHY-S-XGK/41A
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114.

113. Which one of the following is correct
about ‘Aaykar Setu’?

(a)

(b)

fc)

(@)

(a)

(b)

(c)

(d)

Previous Pathshala

It is a mechanism for achieving ‘
excellence in public sector delivery
related to GST.

With the use of a mobile app, it
facilitates online payment of taxes.

It is a communication strategy
designed to collect information and
build a database of tax defaulters.

It enables electronic filing and
processing of import and export
declarations.

SWAYAM is

a network that aims to tap the

talent pool of scientists and
entrepreneurs  towards  global
excellence

a Massive Open Online Courses
(MOOCs) initiative on a national
platform

an empowerment scheme for
advancing the participation of girls
in education

a scheme that supports differently
abled children to pursue technical
education
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115. PRASAD Y424 @M & 3iaia fa=fafaa § 4

g & wa : w ufls 9w F ®9 F
fammm * o afufufia =t fe w27

(a) SR (TRYTH)
(b) EER (ITEs)
(c) WS (TIA)

(d) I (afEg)

116. 39 WA frde faerdt &1 9m sany, @

ICC frbe & wie =i® % #§ (3@ 2018
%) waw T fren 2

(a) TEE Efag
(b) GHtE MEER
(c) HfeA dgee

(d) e Fwae

117. =@ & vfasganft F fou ow € 4 F=g 5=

s 3 frafofaa & @ fee d@en (F) &
Y T TEdNTeoaa U7 561 87

a) THEHE
(b) T
(c) Hzafdg

(d) TFER
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118, ‘¥ged WRd % 3 @om gira feas

wefte (M) % w g1 gen 27
(@) W Qe Hag
(b) wwa wden famwm
(c) WA sEATS Faaw

(d) wwa & e gFas (GI)

119. 1921-1922 # sm@y # Hiw g0 g& g m

‘w1 EeA’ # 9N § e o et
(@) WTEH FER
(b) T T
(c) =N TR

(d) TR TE9 3

120. 1915 # &fEgR T ¥a # fFy @rea fi e

& o7

(a) |GA ud @l
(b) %3 S

(c) TR @I

(d) &g memsn
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115. Under the PRASAD Tourism Scheme, 118, The tagline ‘Invaluable Treasures of
which one of the following has not Incredible India’ is associated with the
been identified as a religious site for logo for

development?

(a) Archaeological Survey of India
fa) Ajmer (Rajasthan)

(b) India Tourism Development
(b) Haridwar (Uttarakhand) Corporation
(¢) Somnath (Gujarat) (c) Geological Survey of India
(d) Velankanni (Tamil Nadu) (d) Geographical Indications (GI) of
India

116. Name the Indian cricketer who is not

inductec} to the ICC Cricket Hall of 119. Who took over the ‘Eka Movement’
Fame (till July 2018). started by the Congress in Awadh

during 1921-1922?
(a) Rahul Dravid

(a) Bhagwan Ahir
(b) Sunil Gavaskar

(b) Madari Pasi
(c) Sachin Tendulkar

(c) Baba Ramchandra
(d) Anil Kumble

(d) Shah Naeem Ata

117. The Central Water Commission has
recently entered into a collaborative

agreement with which one of the 120. Which organization was started at the

following entities for flood forecasting? Haridwar Kumbh Mela in 1915?

(a) Skymet (a) Sanatan Dharma Sabha

(b) Google (b) Dev Samaj

(c) MetService (¢) Brahmin Sabha

(d) AccuWeather (d) Hindu Mahasabha
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